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3. Ax+ 22+ 7y2 =26

i’ 4."“5><2 + Y2+ Bx=6
@ X+ 4y2 =18y = 4

@ X2 + 12x + 5y2 + 30y = -1 C{WI&'\
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@ 2x2 + By? —16x% + 12y = -20
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oliowing ellipses. The answer to

T:
V:

H:

1 C(6, 3); F(1, -3) & (14, 5)

: C(0, 0); F(O, 2V3)

: C(O, -5); F(O, -522VE)

t the joke. -~

C(-1, 0); F(-1, +3)
6(4,‘ -2); F(6, -2) & (2, -2)
C(0, 2); F(xV15, 0)

C(-1, O): (-1, +VB)

C(0, 2); F(iﬁ' 0)

: C(-6, -3); F(Z,‘ -3) &‘(—14, -3)
: C(3, -2): F(3, -2+V3)

1 C(-2, 0); F(-2, +V3)

C(-2, 0); F(-22V3, 0)

: C(0, B); F(xV5, -5)
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Eliipses: finding the certer and the foci

Joke #15
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 “What’s the name of the snake that joined the
Canadian police force?”

Find the center and foci of each hyperbola. The answer to each problem will
match a letter that will allow you to figure out the joke.

L. YP-x=1 P:  C(3,-2) andF(3, -2t/7)
q 36
, N: ¢(1,0) and F(1x/24, 0)
2. YP-H4x*=16
3. (X o 2)2 _ (g _ 3)2 = l y: C(l,-Q) and F(Ii"!’ﬁ, "q)
1 25
| H:  €(0,0) and F(0, +2v5)
4 (X = 1) =y + 4) = 6l
_ 0: €(-3,2), Fi(-3,15), Fa(~3,-11)
QU - x*— 16y +2X + 11 =0
U:  €(0,0) and F(0, +343)
» U =3+ 6X+6y=18
' T: C{-2,3) and F{-2+y294, 3
®4X2—2592~8x-%=0 (-2,3) (-22/24, 3)
Uy - 25%° - 576y 150x = 3244 & C023), Filh3), Fo(-8,3)
257 — 4y + 100X + 24y — 36 = 0 M: C(1,-3) and F(1, -3:4+/2)
392 - 4x* + 12y + 24X = 36 I - C€(1,2) and F(1, 2x/5)
6 8 1 7 4 5 3 10 9 2 8 1
Huperbolas — finding the center and foci V Joke #58
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